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COMPUTER SCIENCE
(Theory)

Full Marks : T
Pasz Marks @ 21

Time = Three Hours and *Fifleen Minaies
/* 15 mimutes are given as extea time for reading quentions)

All the questions dre compusory
The figures ln the right margin indicate full marks for the questions,

Batwer the correct answers from eoch af the fodiowing (1=4) and rewrite J.:' -

I. A constructor that takes no argument is called
b defaslt constructor

(k) pﬂmﬁﬂﬂﬂmm

fod  copy comsiructor

i) destructor

P

2. Sorted arrays are required for the following method(s)
fal binary search
(&) merging
fe)  both fat and (B)
fdl none of the above

3. The theorem a+ab=a is known as
fa) invelution
{B)  absorption
fe)  idempotency
fdl De-Morgan
4. Pﬂmﬁmnﬁmm which is always fixed in one direction all the time
fa) full duplex transmission
(B} half duplex transmission
) simplex transmission
{dl none of the above

Give very short answers to the following questions (5-14) - __ <ladi=10

What are the ways of initializing the members of struciure elements 7
Why is scope reselution operator used in a class ?
Give the rezson for using virtual base class in derive class,

o N kA

Asgume that you are declaring a structure and it contains an clement that
refers to itself. Which type of structure are you going to use 7
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9. Write the drawback of bubble soft.

10, If you are creating a virtual table from an existing table, then write the SCL
command to delete the virtual table.

Il. What is kamaugh map 7

2. What are the required logic circuits to construct a full adder by using half
adders 7

13. What do you mean by the 3000 baud 7

14, Whike accessing internet in the computers, the network is attacked by its
own TP address. What is the possible term for this attack 7
(rive short answers to the following questions (15-24) . 2 1 0=20

15, Write the general form of class declaration.

16. Draw the labelled diagrams of single inheritance and multi-level inheritance,

17. EE.'; one point of similarity and difference berween ios::ate and fos:app file

£5.

18, Differentiste between & and * with respect to pointer.

19, Give the difference between linear search and binary search.

2. Explain the conditions arised on stack operations.

21. Consider the circulsr queue A[50]. Find the number of clements in A if
(i) Front = 42, Rear =18
(@i} Front = 15, Rear =39

.22, What are primary key and candidate key 7
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24,

25,

27
23
29,

31.

Staie the principle of duality wnd find the dul of a +bc = (a+bMa +c).

Draw the bus topology and ree topology of networking.

Give short amvwers to the following questions (25-31) - 3«21

Wrilc the major advantages of Q0P

Define a class worker with the foillowing specifications -

Trivate mombers of class worker

W} ntcger

WIEmG 25 characters

hrwrk. werate float (hours worked amd wage rate per hour)

totwagc float (hrwtk * wilc)

calwar } A functivn o find hrwek * wgrate with floal retam byps

Public members of class worker

in data { } A function Lo aceept values for wno. wname, hrwork, wyrate
and invoke calwg { )
oul data { ) A funciion to display all the data members on the screen,

Definitions of the functions used should also be given,

What are the cherscteristics of siatic data wember 2

Give the siprificance of diffcrent visibility modes in inheritance,
What arc the Bmipations of using array 7

Diltereatiate betwewn buolean algebra and real alpebra.

What arc the varivus requirements that becomce essential for networking 2
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Give answers fo the following questions (32-34) - Sx3=15

32. What is an overloaded function 7 What are the steps_involved in selecting
it funetion from overlouded fumctions ¢ Fxplain,
33, Write a €41 program to implement bubble sort techaique.

34. Comsider the (oilowimg two ables A and B und write the oulputs ol the
command given below : :

A 13

Name Age | Class Name | Age Class

A 15 X1 X 16 X1

B | 16 X1 Y 17 X1

c 17 X z T

R 17 | Xu P 17 bl

Q 18 X Q- 18 xH
i ANB
() B-A

(i) q class = “XII* (A)
() . q class = ‘XII" o Age = 1WB)
fvi r Name, class (A)

" e '“,-i-, . I
22 Cse (T) 24/16(1) s s : No. of coples 500



